EFREXGSEEG AODXR NEAEREEHET)
F R 30F2H28ARTE
T £ L 5 = Hi
AMET—TH 209 193 205 398
AMHET—TH 388 393 413 806
EMET=TH 579 572 671 1,243
AMETETH 410 378 462 840
B S HET 370 387 461 848
RAFIET—T B 375 375 416 791
RRIET=THE 457 439 481 920
RBRAMET=TH 662 552 631 1,183
EFET—THB 334 333 354 687
THETZTH 244 261 252 513
EEET—T B 419 374 423 797
EEETZ=TH 477 444 527 971
FEE—TH 348 329 403 732
EEETZTH 323 292 338 630
E=E—TH 174 171 184 355
EEEZTH 342 311 363 674
ESE=TH 432 443 501 944
E=ETET B 408 417 448 865
BSHET—TH 273 258 293 551
BEETZ=TH 481 434 511 945
HEEI=TH 453 494 566 1,060
BEETET B 650 673 781 1,454
WERET—TH 316 305 320 625
WERETZTH 247 217 201 418
HEET=TH 414 354 317 671
WERETETH 430 403 469 872
HEETETH 553 489 536 1,025
KFHT—TH 104 92 94 186
KXFHIZTH 366 349 392 741
KXFE=TH 195 168 193 361
fIEET—TH 376 335 349 684
HMERTZTH 401 402 452 854
FHRHEE—TH 187 156 202 358
FHREEZTH 211 170 194 364
FREE=TH 196 159 187 346
FREETUTHE 82 73 73 146
FHKEEETH 110 79 99 178
AEHT—TH 325 304 355 659
AET—TH 127 118 135 253
ABT=TH 221 205 223 428
=ET—TH 528 512 567 1,079
*E-TH 728 626 703 1,329
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F R 30F2H28ARTE
BT £ L 5 = Hi
=AET—TH 325 290 314 604
=AET=TH 329 280 265 545
ZHET—TH 331 324 378 702
HEET=TH 243 254 259 513
FIEET=TH 535 490 596 1,086
ZHAETETH 457 425 485 910
XIREET—TH 826 872 944 1,816
XIRETZTH 509 564 589 1,153
7R ET 2,548 2,916 3,076 5,992
NEET—TH 280 311 333 644
BT T B 51 54 61 115
X7 760 804 873 1,677
XRET—TH 817 830 900 1,730
XRERETZTE 650 732 801 1,533
XRET=TH 737 854 905 1,759
XRETHT B 426 434 485 919
FET—TH 680 662 605 1,267
EET—TH 1,005 1,000 1,042 2,042
HE=TH 1,010 943 1,003 1,946
FETmET B 520 477 527 1,004
kAN HT 385 420 510 930
FHARITERN) 28,349 27,975 30,696 58,671
HiESHET 730 825 841 1,666
1 S ET 200 251 256 507
2T 489 616 610 1,226
HEET—TH 383 393 409 802
EBEET=TH 404 358 451 809
BHRET=TH 670 702 760 1,462
ZFEETMTH 358 408 400 808
1% BRHET 406 502 515 1,017
Tk SHET 203 279 300 579
= Hh BT 236 339 311 650
FaEHT 749 1,001 1,021 2,022
ey 277 316 314 630
\WEBT—TH 1,056 1,144 1,150 2,294
\WFBRT=TH 544 610 659 1,269
rh N ET 300 435 453 888
REMT 602 752 814 1,566
[LEEET—T B 885 863 964 1,827
[LEERT=TH 1,511 1,389 1,674 3,063
[LERT=TH 1,256 1,106 1,358 2,464
FH(ENIR#X) 11,259 12,289 13,260 25,549
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2N HHET 313 388 402 790
18 FHT 238 323 326 649
& BHT 592 786 843 1,629
EEJCRRET 314 389 389 778
HrYEHT 589 915 956 1,871
T FAT R ET 130 166 193 359
JIHLET 278 365 370 735
fEFLHT 71 104 96 200
EHLET 123 150 148 298
TJIET 781 836 889 1,725
IRt X) 3,429 4,422 4612 9,034
R R ET 373 480 512 992
/)N s AT 207 290 267 557
i SUHT 241 277 289 566
FRHET 429 501 524 1,025
S HRET 649 763 883 1,646
INRFET 678 897 897 1,794
ZaHT 308 398 385 783
& A 8T 206 196 231 427
={EEs—TH 317 352 359 711
SEA=TH 539 563 609 1,172
ATCREMX) 3,947 4717 4,956 9,673
={RET—TH 764 800 824 1,624
=RETZTH 530 534 571 1,105
={RET=TH 691 731 801 1,532
SEIRAT 685 776 713 1,489
& fET 293 404 409 813
T RET 535 554 609 1,163
A BRET—TH 427 495 508 1,003
AFBEETZTH 914 894 976 1,870
BAARBRET=TH 558 611 577 1,188
mAAFBEETETH 569 578 499 1,077
BAARBRETRTH 614 600 602 1,202
R EHET 713 894 910 1,804
[ SRET 1,975 2,314 2,440 4,754
A E8HT 105 115 121 236
& RHET 643 671 736 1,407
SR EHET 484 590 596 1,186
¥E 2 THT 345 399 461 860
1R ET 641 897 940 1,837
T ARHET 1,234 1,311 1,361 2,672
TEEHRX) 12,720 14,168 14,654 28,822
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75 HET 2,393 2,838 3,036 5,874
% ZRHET 274 341 358 699
il F5 E ET 616 736 712 1,448
AIFEEHBT=TH 174 226 237 463
JII g ET 935 998 1,025 2,023
Fi 1e7 9 HH T 621 721 795 1,516
T $r HET 1,605 1,893 1,999 3,892
L FrEET 1,545 1,760 1,853 3,613
INFERHT 1,033 1,123 1,053 2,176
INBARET—TH 152 142 173 315
T T 572 544 518 1,062
oThE—TH 731 721 726 1,447
HHET=TH 24 22 23 45
ST EHET 1,060 1,203 1,171 2,374
IR A EHT 113 128 132 260
St hS BT 331 363 354 717
KFIEET—TH 636 653 752 1,405
AFIEETZTH 574 621 709 1,330
HTRIASHET 413 359 364 723
& T 234 297 308 605
5 R#X) 14,036 15,689 16,298 31,987
TUHASLET 3,458 3,686 3,726 7,412
TTHAttET—TH 428 453 480 933
TS ETZTH 514 479 522 1,001
TTHET=TH 58 62 66 128
XRET—TH 219 214 186 400
ARETZTH 628 607 637 1,244
AKRET=TH 331 366 337 703
XER—TH 293 278 291 569
KERTZTH 1 0 1 1
=T 39 31 41 72
AEET—TH 168 178 184 362
GRETZTH 188 166 201 367
BRET=TH 180 168 170 338
AEETETH 255 241 231 472
BRETETEHE 288 268 294 562
5 FIET 610 628 467 1,095
THREH 439 434 465 899
FEET—T B 55 31 43 74
HEET=TH 289 226 233 459
it (it X) 8,441 8,516 8,575 17,091
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HattET#R#t 2,157 2,411 2,413 4,824
HHEr—TH 24 18 27 45
WHEITZTH 398 393 355 748
HWHET=TH 254 252 283 535
BHETETH 135 178 169 347
T ETHE B 1,512 1,759 1,845 3,604
KBTS H 314 324 343 667
=HET—TH 566 638 588 1,226
BTN R 422 493 511 1,004
it (¥t X) 5,782 6,466 6,534 13,000
A FEET 1,112 1,321 1,357 2,678
T FHHET 1,790 2,051 2,153 4,204
e BET 1,407 1,552 1,675 3,227
T/NHET—TH 468 449 437 886
T/INHETZTH 1,024 942 889 1,831
T/NHET=TH 443 404 448 852
E/NHET—TH 591 631 623 1,254
F/NHETZTH 672 655 670 1,325
E/NHET=TH 706 727 711 1,438
BERL P ET 752 799 800 1,599
& HET 2,215 2,458 2,612 5,070
bk il 882 836 935 1,771
FKET—TH 609 677 714 1,391
RHKET=TH 689 720 704 1,424
RUET=TH 217 235 253 488
FMETET B 166 193 189 382
B & <F HT 198 242 265 507
J1 it ET 45 56 58 114
H O #T 858 915 1,027 1,942
R 4R ET 232 225 261 486
FAiRET—T B 200 234 247 481
FA{RET—T B 433 515 532 1,047
BiRET=T B 560 580 584 1,164
JUI ERET 129 126 144 270
NIRET—TH 501 607 640 1,247
MNEETZ=TH 397 506 525 1,031
A A& T 671 553 778 1,331
it (Pt X) 17,967 19,209 20,231 39,440
th i AT 245 313 327 640
EERFHET 189 252 250 502
HELTHT 807 951 1,012 1,963
B ETHT 207 252 271 523
FSTCREEHX) 1,448 1,768 1,860 3,628
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RINKSHT 1,271 1,341 1,369 2,710
XINKSET—TH 473 459 517 976
XINKSETZTH 434 447 475 922
XINKEBET=THE 904 900 885 1,785
EXREHET 894 1,095 1,110 2,205
ZZET 214 272 290 562
L+ RRET 280 325 362 687
B ErHET 118 124 129 253
Eadesliiy) 480 589 581 1,170
T REEHET 228 321 307 628
/N BT 150 212 201 413
Btz BT 2,999 3,441 3,568 7,009
TREHT 1,362 1,542 1,619 3,161
&t (kBRI X) 9,807 11,068 11,413 22,481
T KEHT 221 292 297 589
SRIRHET 301 398 384 782
= HET 714 999 988 1,987
FTOHT 372 521 533 1,054
TR THT 533 732 737 1,469
oK =HT 527 692 672 1,364
BROKZEHT 259 318 302 620
Bk + FHHET 280 361 354 715
HTFHET 102 136 142 278
ZZ = 1,075 1,455 1,420 2,875
S FHET 260 359 336 695
S FHHT 427 566 577 1,143
INE JRET 639 789 808 1,597
& HET 589 644 679 1,323
T EET 352 471 468 939
EENRET 559 680 695 1,375
AT (i X) 7,210 9,413 9,392 18,805
K HAET 676 743 836 1,579
N 1,493 1,870 1,848 3,718
YR R HT 1,591 1,978 1,990 3,968
&R ET 458 614 589 1,203
FETEHT 553 715 744 1,459
RE AT 162 185 199 384
3 [ T 542 707 750 1,457
A R T 1,266 1,611 1,721 3,332
+EREHT 454 583 526 1,109
T (R#AX) 7,195 9,006 9,203 18,209
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SERHE 954 1,318 1,330 2,648
HEHT 578 729 755 1,484
T 2 EAHT 235 320 333 653
=TRRHET 103 104 115 219
w®y ST 371 515 549 1,064
B 15T 166 246 231 477
KATEHHET 489 643 673 1,316
FH(EHEHX) 2,896 3,875 3,986 7,861
FRINET R 2R 112 103 100 203
FHNIETZER 195 252 251 503
FAJIET A H 405 552 569 1,121
FHIETREER 132 181 175 356
BT ETE 419 546 550 1,096
FHNIETA R F 677 838 823 1,661
FHBTRE 598 839 825 1,664
)BT 23 736 1,038 1,013 2,051
FH)IETFE T 192 219 251 470
FIETRIE R 53 68 75 143
FH)IBT EEREE 64 98 103 201
FHIET FRE®E 45 66 69 135
AINET—BTH 34 57 47 104
81 BT eh 148 198 190 388
81| BT RS 299 382 383 765
S CGRNHEX) 4,109 5,437 5,424 10,861
ETRETHS 366 467 464 931
ELTRETSIH 96 121 115 236
ETRETHEE 307 448 463 911
=+ RETR.ZHE 1,547 2,007 1,991 3,998
E+TRET/NR 382 496 503 999
=+ RETKE 341 482 502 984
=+ RETEFR 2,041 2,752 2,704 5,456
ELTRE/NE 1,760 2,306 2,326 4,632
ELRETAHF 1,008 1,325 1,329 2,654
ELTRETRE 109 165 163 328
ETRETHZAKE 85 122 125 247
ELRETLO 78 104 109 213
ETRETEIR 203 300 273 573
=+ RETIRELIL 323 343 344 687
FHELTRBX) 8,646 11,438 11,411 22,849
& &t 147,241 165,456 172,505 337,961




